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Some Kinds of Test:

1-The Convergence Test:

Proposition (3,5)
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In general the converse of proposition (3.5) is not true.
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2 The Comparison Test:

Proposition (3,7);
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~ Y, @, is a convergence series.

Proof; 2. Suppose the result is not true, i.e Y., @, is a convergence

series.
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By part (1) Xn b, is a convergence series C!

Example:
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Consider the series L,,:. . where p > 0, p € R, this series is
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3-The Absolute and Conditional Convergence Test:

Definition (3.8):

1) Aseries )., a, is said to be absolutely convergence if Y, |a,|

IS a convergence series.
2) If ), a, isaconvergence series and )., |a,| is a divergence
series, then we say that )., a, is a conditionally convergence series.
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Proposition (3.9):

If Y ay is absolutely convergence series, then ), a, isa
convergence series.
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> is a Cauchy sequ i€ ' i
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4-The Root Test:
“ En an Is a series such that ve> (0 3 = k(E) and 4 positi\re
real number b with Va, <b<1 vn>k ,then ¥ apisa

convergence series.

5-The Ratio Test:
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